= B X it
=} 1t A0
ik E; = &t
it 126,020 | 120,720 | 119,584 | 240,304
TR 23%E38 1 BFRIOBIRE
BITH | #% E; = &&t
m E1 678 604 621 1,225
W [E2 1,019 849 855 1,704
m ES3 888 697 726 1,423
i E4 1,010 850 807 1,657
F E1 783 687 715 1,402
F E2 451 418 412 830
F S 1,059 936 919 1,855
% 1 1,314 1,200 1,095 2,295
% 2 1,288 1,291 1,278 2,569
% 8 1,071 1,007 974 1,981
% 4 1,826 1,619 1,427 3,046
AN 615 528 507 1,035
i JI2 673 616 560 1,176
AITE 732 676 671 1,347
i )4 707 632 530 1,162
% I 689 656 704 1,360
EF )2 1,085 971 1,016 1,987
% )3 1,822 1,632 1,725 3,357
SIEREE 770 573 630 1,203
ILEIE2 932 706 635 1,341
SLERHES 431 286 239 525
STEAE4A] 1,280 963 967 1,930
SIHEES| 1,307 1,293 1,254 2,547
IR 39 36 43 79
1 2 620 531 540 1,071
& JR1 899 811 763 1,574
g R2 788 755 821 1,576
& JR3 815 833 776 1,609
g R4 1,080 1,002 963 1,965
A FE1 1,287 1,139 1,129 2,268
A E2 1,029 985 959 1,944
A &S 1,364 1,312 1,175 2,487
A B4 1,166 1,180 1,045 2,225
A P 1,189 1,164 1,087 2,251
A Fr2 801 764 816 1,580
A Fr3 835 834 826 1,660
A _Fi4 1,030 1,030 966 1,996
HEZ1 651 544 576 1,120
HEGfiz2 751 738 730 1,468
HEZ3 756 664 662 1,326
HEORz4| 1,216 1,120 1,080 2,200
% 2] 1,119 949 979 1,928
EEE2 772 660 644 1,304
=ZE1BS 805 751 800 1,551
2 %1 1,122 862 804 1,666
iR %2 359 320 252 572
R %S 402 328 292 620
8 %4 757 686 634 1,320
A 1 1,412 1,396 1,321 2,717
X F2 839 716 630 1,346
A FE3 536 454 485 939
X F4 2,340 2,209 2,246 4455
I Et| 49259 | 44463 | 43311 | 87,774
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BITH | #% E; = &&t
I 606 724 655 1,379
2 630 579 512 1,091
# I3 617 584 489 1,073
¥ 4 638 593 591 1,184
# Jl5 1,530 1,538 1,648 3,186
% 1 1,456 1,414 1,551 2,965
¥ F2 757 683 581 1,264
%( I3 819 661 656 1,317
¥ 4 1,009 897 913 1,810
% ¥5 1,071 1,028 1,078 2,106
m E1 965 900 865 1,765
m B2 1,247 1,157 1,184 2,341
m B3 1,999 1,879 1,792 3,671
m B4 1,260 1,236 1,257 2,493
m E5 2,124 1914 1,886 3,800
HAS1 1,506 1,469 1,389 2,858
HEE2] 2491 2,346 2,333 4,679
BMEE3] 1,485 1,562 1,613 3,175
HEB4| 1,757 1,709 1,709 3,418
BMEES5| 1877 1,793 1,855 3,648
HAE6| 2448 2,498 2,408 4,906
12 @1 993 1,163 1,052 2,215
T @2 2,083 2,125 2452 4577
£ A1 1,221 1,433 1,546 2,979
£ H2 1,804 1,882 1,852 3,734
= HS3 1,706 1,754 1,685 3,439
£ H4 2,360 2,336 2,518 4,854
= H5 1,511 1,518 1,451 2,969
B F1 1,157 1,014 1,016 2,030
B E2 1,843 1,750 1,897 3,647
@ E3 2,107 2,090 1,949 4,039
R B 3,031 2,921 3,023 5,944
m B2 991 939 914 1,853
R B3 2,306 2,245 2,183 4428
X {E1 2,853 2,633 3,094 5,727
X {E2 1,075 1,083 1,052 2,135
X 1E3 1,125 1,275 1,305 2,580
NN 1,636 1,680 1,489 3,169
I\ 52 1,757 1,912 1,790 3,702
J\ =3 1,707 1,735 1,672 3,407
NN 1,825 1,981 1,885 3,866
J\ =5 1477 1,464 1,478 2,942
J\ L6 1,881 1,958 1,872 3,830
3T BT 3,087 2,875 3,059 5,934
i fE2 778 747 725 1,472
i {E3 1,319 1,305 1,305 2,610
3 {4 1,531 1,686 1,590 3,276
3L {E5 1,371 1,647 1,459 3,006
3L {E6 1,109 1,175 1,222 2,397
REH1 60 75 53 128
HEMH2 518 536 496 1,032
HE=HES3 247 256 224 480
N F 76,761 | 76,257 | 76,273 | 152,530
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=} 1t A0
ik E; = i
&t 7,390 3,977 5,797 9,774
TR 23%E38 1 BFRIOBIRE
BITH | #% E; = &&t
i [E1 105 47 64 111
m [E2 100 64 64 128
i ES 65 41 38 79
i E4 112 68 59 127
T &1 32 17 23 40
F F2 56 33 32 65
F S 28 12 24 36
% 1 82 42 59 101
% 2 53 26 42 68
% 3 102 54 77 131
% 4 175 73 155 228
AN 15 5 13 18
37 )12 26 11 16 27
sr JII3 38 26 23 49
i )4 55 36 29 65
& I 33 24 15 39
% 2 40 20 25 45
% )3 59 31 51 82
SIERE 148 65 134 199
ILEIE2 153 82 124 206
SLERHES 95 44 82 126
LERIE4 407 169 328 497
JLERIES 99 46 87 133
1 0 0 0 0
2 32 17 17 34
& R1 45 16 35 51
g R2 50 34 40 74
& JR3 48 24 34 58
g R4 102 47 81 128
A E1 72 39 54 93
£ [R2 38 17 25 42
A [ES 72 36 47 83
£ R4 90 38 77 115
A Pl 61 38 40 78
A 2 31 16 25 41
A Fr3 29 20 18 38
A _Fi4 63 30 60 90
HENHZ 1 40 27 23 50
HEGfiz2 56 37 27 64
HEZ3 22 19 13 32
HENfiz4 42 12 32 44
% 2] 42 23 38 61
BEEB2 19 7 15 22
=ZE1BS 38 23 25 48
R R 168 85 143 228
iR %2 139 91 93 184
R %S 123 52 100 152
iR %4 186 102 151 253
A F1 134 65 120 185
A F2 128 68 108 176
X FE3 119 79 81 160
X F4 175 84 151 235
N B 4,242 2,182 3,237 5,419
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I 46 25 29 54
2 40 18 27 45
# I3 47 22 40 62
¥ 4 62 24 53 77
¥ IS5 64 35 61 96
% 1 64 37 36 73
¥ T2 28 14 20 34
%( I3 23 8 20 28
¥ F4 42 19 32 51
% ¥5 30 18 21 39
m E1 32 22 20 42
m B2 34 16 26 42
m B3 82 42 56 98
m B4 36 16 30 46
m E5 56 29 39 68
RS 53 24 46 70
HEE2 80 38 63 101
HAS3 58 30 46 76
HEE4 40 19 36 55
HRBE5 65 39 53 92
HFE6 57 21 45 66
12 &1 48 34 36 70
g @2 122 71 124 195
= H1 57 44 64 108
= H2 67 38 54 92
= HES 63 43 59 102
= H4 70 35 55 90
= H5 43 24 27 51
k1 43 29 25 54
B E2 56 30 50 80
B E3 61 44 46 90
R B 89 51 85 136
= B2 37 19 25 44
= B3 61 31 59 90
X {E1 123 85 113 198
X _{E2 47 22 39 61
X 1E3 55 30 45 75
J\ &1 62 34 44 78
I\ 52 64 32 62 94
J\ =3 63 31 49 80
I\ 54 76 46 63 109
J\ &5 68 44 65 109
J\ [56 70 52 53 105
3L BT 228 150 180 330
3 {E2 51 23 34 57
3 {E3 60 40 52 92
3 {4 79 43 80 123
3 1E5 108 52 87 139
i 1E6 61 35 52 87
REH1 15 12 5 17
HEMH2 42 38 24 62
REHH3 20 17 5 22
N F 3,148 1,795 2,560 4,355




= B X it
=} 1t A0
ik E; = &t
it 133,410 | 124,697 | 125,381 | 250,078
TR 23%E38 1 BFRIOBIRE
BITH | #% E; = =k
m E1 783 651 685 1,336
W [E2 1,119 913 919 1,832
i [E3 953 738 764 1,602
m =4 1,122 918 866 1,784
F E1 815 704 738 1,442
F B2 507 451 444 895
F 3 1,087 948 943 1,891
% 1 1,396 1,242 1,154 2,396
% 2 1,341 1,317 1,320 2,637
% 3 1,173 1,061 1,051 2,112
% 4 2,001 1,692 1,582 3,274
AN 630 533 520 1,053
i JI2 699 627 576 1,203
AITE 770 702 694 1,396
i )4 762 668 559 1,227
% I 722 680 719 1,399
EF )2 1,125 991 1,041 2,032
% )3 1,881 1,663 1,776 3,439
SLEET 918 638 764 1,402
ILEIE2 1,085 788 759 1,547
JLERIES 526 330 321 651
SIERIB4| 1,687 1,132 1,295 2,427
SIHEES| 1,406 1,339 1,341 2,680
IR 39 36 43 79
1 2 652 548 557 1,105
& JR1 944 827 798 1,625
g R2 838 789 861 1,650
& JR3 863 857 810 1,667
g R4 1,182 1,049 1,044 2,093
A FE1 1,359 1,178 1,183 2,361
A E2 1,067 1,002 984 1,986
A &S 1,436 1,348 1,222 2,570
A B4 1,256 1,218 1,122 2,340
A P 1,250 1,202 1,127 2,329
A Fr2 832 780 841 1,621
X Fr3 864 854 844 1,698
A _Fi4 1,093 1,060 1,026 2,086
HEZ1 691 571 599 1,170
HEGfiz2 807 775 757 1,532
HEZ3 778 683 675 1,358
HERfz4[ 1,258 1,132 1,112 2,244
EEE 1,161 972 1,017 1,989
EEE2 791 667 659 1,326
BEEES 843 774 825 1,599
2 %1 1,290 947 947 1,894
iR %2 498 411 345 756
R %S 525 380 392 772
iR %4 943 788 785 1573
A 1 1,546 1,461 1,441 2,902
A F2 967 784 738 1,522
A FE3 705 533 566 1,099
X F4 2,515 2,293 2,397 4,690
/v &t | 53501 | 46,645| 46,548 | 93,193
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BITH | #% E; X &t
I 652 749 684 1,433
2 670 597 539 1,136
# I3 664 606 529 1,135
¥ 4 700 617 644 1,261
# Jl5 1,594 1,573 1,709 3,282
£ 1 1,520 1,451 1,587 3,038
¥ F2 785 697 601 1,298
%( I3 842 669 676 1,345
¥ 4 1,051 916 945 1,861
% ¥5 1,101 1,046 1,099 2,145
[ B1 997 922 885 1,807
m B2 1,281 1,173 1,210 2,383
m B3 2,081 1,921 1,848 3,769
m B4 1,296 1,252 1,287 2,539
[m B5 2,180 1,943 1,925 3,868
HAS1 1,559 1,493 1,435 2,928
HEE2| 2571 2,384 2,396 4,780
BEE3| 1543 1,592 1,659 3,251
mEE4| 1,797 1,728 1,745 3,473
BEES| 1,942 1,832 1,908 3,740
HAE6| 2505 2,519 2,453 4,972
12 @1 1,041 1,197 1,088 2,285
T @2 2,205 2,196 2576 4772
= H1 1,278 1,477 1,610 3,087
£ H2 1,871 1,920 1,906 3,826
= H[ES 1,769 1,797 1,744 3,541
= H4 2,430 2,371 2573 4,944
= H5 1,554 1,542 1,478 3,020
k1 1,200 1,043 1,041 2,084
B E2 1,899 1,780 1,947 3,727
B E3 2,168 2,134 1,995 4,129
R B 3,120 2,972 3,108 6,080
= B2 1,028 958 939 1,897
m B3 2,367 2,276 2,242 4518
X {E1 2,976 2,718 3,207 5,925
X 1E2 1,122 1,105 1,091 2,196
X 1E3 1,180 1,305 1,350 2,655
J\ &1 1,698 1,714 1,533 3,247
I\ =2 1,821 1,944 1,852 3,796
J\ 53 1,770 1,766 1,721 3,487
NN 1,901 2,027 1,948 3,975
J\ 55 1,545 1,508 1,543 3,051
J\ 56 1,951 2,010 1,925 3,935
3T BT 3,315 3,025 3,239 6,264
i fE2 829 770 759 1,529
3 1E3 1,379 1,345 1,357 2,702
! 1,610 1,729 1,670 3,399
3 1E5 1,479 1,599 1,546 3,145
3 1E6 1,170 1,210 1,274 2,484
REH1 75 87 58 145
HEMH2 560 574 520 1,094
HE=HES3 267 273 229 502
N E 79,909 | 78,052 | 78,833 | 156,885




